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SOt 9,249,598 5,561,522 3,688,076
Xl HE(ZEL XN AML/XNEL T Al 9,080,782 5,337,634 3,743,148
EHXIOHE X7 22/ (S AIHEAIE S E S AH) 3,839,496 337,634 3,501,862
ERXIOHE X = &8I 200,000 300,588 A 100,588
401 A2 HIZL 20 Y] 200,000 250,000 250,000
01 Al &bl 198,560 248,200 A 49,640
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40,000,000& * 5JH A = 99.28/100 198,560
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40,000,000& = 5042 = 0.72/100 1,440
04l 51 Hl 3,639,496 37,046 3,602,450
801 Ol I Hl 3,639,496 37,046 3,602,450
01 L erolli bl bl 92,496 37,046 55,450
O olgldl 92,495,980& = 14| 92,496
B UHRERES 3,547,000 0 3,547,000
O UeERE3 3,547,000,000& * 14 3,547,000
AMET ML (ZAIINL AL SE S A 5,241,286 5,000,000 241,286
2 HX = SXIOH 2 A 5,241,286 5,000,000 241,286
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401 Al I 208 5,235,052 5,000,000 235,052
01 Al &t 4,448,009 4,986,500 A 538,491
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4,448,009,000& » 14 4,448,009
02 22l bl 775,000 0 775,000
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4,460,052,000& = 0.27/100 12,043
HHSAHU(SEML D) (IIEHIIE 24,596 223,888 A 199,292
JI2ZHI(ZAIHEAIS SE S AH) 24,596 55,996 A 31,400
Jl23l 24,596 55,996 A 31,400
201 L2l 4,896 27,796 A 22,900
01 At 22|l 4,896 27,796 A 22,900




2N

2o o
M HHE2HAH(2 LML) (IIEHIIE)
Sl JI2BH(SANLAIS SLE3H) (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
O SEH A& 4,896,000& * 14 4,896
202 044l 19,700 28,200 A 8,500
01 = LH 4 1l 19,700 28,200 A 8,500
O BA2Y SHAHA 19,700,000& = 14! 19,700
HeEs(SIMLA)(LSIHFY /NS - S 8) 144,220 0 144,220
HEHHXES(SAINL AL SE3IAH) 144,220 0 144,220
LHEHHXI = 144,220 0 144,220
705 G~ &clS34E 144,220 0 144,220
02 Ofl =3 Ol A+&t & 144,220 0 144,220
O SEMEESII=S =201k &
14,000,000,000& * 2% * 188 / 365 144,220




